
The first box (2,2) is given to you. Using this hint, you can get the box above and below it.

By hint in box (1,2), the boxes to the sides of it can be inferred.

By combining the hints in box (1,1) and box (2,2) we know that the three 1's in column 1 must be 
consecutive. That gives us two of those 1's:

By (1,2) and (1,3), column 3 has two 1's. We also know that column 1 has three 1's. By the hint in (3,2), 
we know that column two must then have either 1, 4, or 5 1's. However, it cannot have 1 or 5 since it 
already has two 1's and a 0. So the column must have four 1's and thus the remaining boxes in the 
column must be 1.
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Box (4,2) gives us that the box directly to the right of (4,2) must be a 1:

By the hint in (4,3) and the fact that column three has only two 1's, we know that the single 0 around 
box (4,3) must be in column 3, not column 4. So the “surrounding” boxes that lie in column 4 are 1's:

Using the hint in (3,2), we know column 4 must have either one or five 1's. Since it has three 1's 
already, it must have five 1's total. Further, row 1 has only two 1's by (1,2), so we know the final box in 
the row is a 0.

Combining the hints in box (3,1) and (1,5) gives us that box (5,3) must be a 0 so that the total number 
of 1's in row 5 does not exceed 3. Further, box (3,3) is a 1 since we know that box (4,3) is surrounded 
by all 1's except for one box. Finally, box (2,3) is a 0 because there are only two 1's in that column.
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By the hint in box (3,3), we know box (5,5) must be a 0. No 1 on the grid so far could possibly have 
two 0's below it, so that 1 must be in column 5. And since we know there will only be one 1 in that 
column, the final box in the column cannot be a 1.
 

By hint in box (3,1), the final corner (5,1) must be a 1. Further, we know there are only three 1's in the 
first column, so box (2,1) is a 0.

The final step is determining where the single 1 in the last column goes. Remembering that it must 
have at least two 0's below it, we know it cannot be in box (4,5). Further, by the hint we just got in 
(2,1), we know it cannot be in row 2 because row 1 is the row with two 1's. So the final 1 goes in box 
(3,5). The remaining box is 0.
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